



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right) + \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{44}{5} = 8\frac{4}{5}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{2} = \frac{27}{4} = 6\frac{3}{4}$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{3}{5} = \frac{152}{45} = 3\frac{17}{45}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{21}{5} = 4\frac{1}{5}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{4} = \left(-\frac{9}{100}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{4} = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{4} = \frac{13}{16}$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{4} = \frac{79}{100}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{73}{2} = 36\frac{1}{2}$$

$$\left(-\frac{2}{5}\right) + \frac{2}{5} = 0$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{7}{12}\right)$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{6} = \frac{5}{18}$$

$$\left(\frac{1}{2}\right) + \frac{3}{5} = \frac{11}{10} = 1\frac{1}{10}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$